		Project Name: 2015 ENERAL CONTRACTION CONTRACT
Ref. No.	Item No.	Description
1	201	Tree Removal, 8-12" Size
2	201	Tree Removal, 18-24" Size
3	201	Tree Removal, 36" Size
4	201	Tree Removal, 48" Size
5	202	Fence Removed, Stored and Reinstalled
6	202	Guardrail Removed for Reuse
7	252	Permanent Pavement Replacement, per Std. Dwg. 1441, Type 1 w/o Heatweld
8	253	Temporary Pavement
9	254	Pavement Planing (1-1/4")
10	404	Asphalt Concrete (1-1/4" Overlay)
11	413	Crack Sealing, Hot Applied
12	601	Rock Channel Protection, Type B w/Filter Fabric
13	603	8'x4' Conduit, Precast Box Culvert
14	604	Standard Wingwall, per Std. Dwg. AA-S167
15	604	Manhole, Type A Class C AA-S102 w/ Heavy Duty Lid AA-S116, Depth < 10'
16	604	Curb and Gutter Inlet, Type AA-125, Depth <6'
17	604	Catch Basin, Type AA-S133 w/ Heavy Duty Grate, Depth < 6'
18	608	Concrete Walk
19	609	Curb, Type Straight 18"
20	609	Combination Curb and Gutter
21	659	Seeding and Mulching

ı		AOURS: SILT ARRIES LIE IN OARRIES IN OLD A				
22	901	12" Pipe with Type 1 Bedding, Including Item 912 Backfill, Depth < 9', Length < 100', in Street				
23	901	12" Pipe with Type 1 Bedding, Including Item 912 Backfill, Depth < 9', Length < 100', in Alley				
24	901	12" Pipe with Type 1 Bedding, Including Item 912 Backfill, Depth < 9', Length < 100', in Grass				
25	901	12" Pipe with Type 1 Bedding, Including Item 912 Backfill, Depth < 9', Length >100', in Street				
26	901	12" Pipe with Type 1 Bedding, Including Item 912 Backfill, Depth < 9', Length > 100', in Alley				
27	901	12" Pipe with Type 1 Bedding, Including Item 912 Backfill, Depth < 9', Length > 100', in Grass				
28	915	8 inch x 6 inch diameter Wye Fitting, Including Item 912 Backfill, Depth < 9', in Street				
29	918	6" Service Lateral w/ Type I Bedding, Including Item 912 Backfill, Depth < 9', Length 10' typ.				
30	SPEC	Linear Grading, Per Detail, 2 CY typ.				
31	SPEC	Tideflex Checkmate In-line Check Valve, 12"				
32	SPEC	Cast Iron Flap Gate, 12"				
33	SS-100	Raise Manhole Frame to Grade, Grass				
34	SS-100	Raise Manhole Frame to Grade, Alley				
35	SS-100	Raise Manhole Frame to Grade, Street				
36	SS-100	Reconstruct Manhole to Grade, Grass				
37	SS-100	Reconstruct Manhole to Grade, Alley				
38	SS-100	Reconstruct Manhole to Grade, Street				
39	SS-100	Right of Entry				
40	SS-100	Manhole Frame and Cover				
41	SS-104	Open Cut Sewer Repair, 8"-12" Pipe, Depth ≤ 8', Length > 12', in Alley				
42	SS-104	Open Cut Sewer Repair, 8"-12" Pipe, Depth ≤ 8', Length > 12', in Street				
43	SS-104	Open Cut Sewer Repair, 8"-12" Pipe, Depth ≤ 9'-16', Length > 6'- 12', in Grass				
44	SS-104	Open Cut Sewer Repair, 8"-12" Pipe, Depth ≤ 9'-16', Length > 6'- 12', in Alley				
45	SS-104	Open Cut Sewer Repair, 8"-12" Pipe, Depth ≤ 9'-16', Length > 6'- 12', in Street				

Special		

THE BIDDER'S TOTAL ABOVE IS HIS TOTAL BID BASED UPON HIS UNIT PRICES AND LUMP S PLANS. THIS FIGURE IS FOR INFORMATION AT THE TIME OF THE OPENING OF THE BIDS OF PRICES AND LUMP SUM PRICE BID. IF THERE IS AN ERROR IN THE TOTAL BY THE BIDDER, PRICES SHALL GOVERN.

## **NOTES**

1.) Apparent Low Bidder - George J. Igel & Co., Inc.

CIP #: 650745-100007		PRO.	PROJECT ENGINEER: MARK TIMBROOK				
			ENGINEER	George J. Ige			
Estimated Quantities	Units		L SUM of rial and Labor		AL Cost in RES (\$)	Total Sum Materials and Labor	
20	Ea	\$	500.00	\$	10,000.00	\$490.00	
10	Ea	\$	1,000.00	\$	10,000.00	\$1,640.00	
2	Ea	\$	2,000.00	\$	4,000.00	\$2,730.00	
2	Ea	\$	2,500.00	\$	5,000.00	\$3,830.00	
400	LF	\$	40.00	\$	16,000.00	\$15.50	
100	LF	\$	20.00	\$	2,000.00	\$6.50	
20	CY	\$	500.00	\$	10,000.00	\$520.00	
50	SY	\$	30.00	\$	1,500.00	\$84.00	
1,000	SY	\$	10.00	\$	10,000.00	\$8.50	
100	Ton	\$	225.00	\$	22,500.00	\$200.00	
1,000	LF	\$	3.50	\$	3,500.00	\$2.00	
25	CY	\$	100.00	\$	2,500.00	\$95.00	
80	LF	\$	750.00	\$	60,000.00	\$1,060.00	
1	Ea	\$	6,000.00	\$	6,000.00	\$15,770.00	
5	Ea	\$	2,500.00	\$	12,500.00	\$2,650.00	
5	Ea	\$	2,500.00	\$	12,500.00	\$2,410.00	
10	Ea	\$	1,500.00	\$	15,000.00	\$1,980.00	
500	SF	\$	15.00	\$	7,500.00	\$8.00	
200	LF	\$	40.00	\$	8,000.00	\$49.00	
200	LF	\$	50.00	\$	10,000.00	\$54.00	
2,000	SY	\$	3.00	\$	6,000.00	\$1.50	

		1				
\$150.00	75,000.00	\$	150.00	\$	FT	500
\$150.00	60,000.00	\$	120.00	\$	FT	500
\$146.00	50,000.00	\$	100.00	\$	FT	500
\$150.00	120,000.00	\$	120.00	\$	FT	1,000
\$150.00	100,000.00	\$	100.00	\$	FT	1,000
\$146.00	80,000.00	\$	80.00	\$	FT	1,000
\$700.00	200,000.00	\$	4,000.00	\$	Ea	50
\$4,650.00	200,000.00	\$	4,000.00	\$	Ea	50
\$2,000.00	40,000.00	\$	2,000.00	\$	Ea	20
\$2,700.00	5,000.00	\$	5,000.00	\$	Ea	1
\$1,250.00	3,000.00	\$	1,500.00	\$	Ea	2
\$910.00	10,000.00	\$	1,000.00	\$	Ea	10
\$1,000.00	15,000.00	\$	1,500.00	\$	Ea	10
\$1,100.00	20,000.00	\$	2,000.00	\$	Ea	10
\$950.00	6,500.00	\$	650.00	\$	VF	10
\$1,050.00	8,500.00	\$	850.00	\$	VF	10
\$1,150.00	10,000.00	\$	1,000.00	\$	VF	10
\$150.00	15,000.00	\$	500.00	\$	Ea	30
\$350.00	3,000.00	\$	300.00	\$	Ea	10
\$400.00	110,000.00	\$	1,100.00	\$	LF	100
\$400.00	125,000.00	\$	1,250.00	\$	LF	100
\$12,500.00	50,000.00	\$	10,000.00	\$	Ea	5
\$13,000.00	90,000.00	\$	18,000.00	\$	Ea	5
\$13,500.00	100,000.00	\$	20,000.00	\$	Ea	5
¥ = /== = ===	1,730,500.00	\$	dder's Subtotal	Bid		

Force Account: Fixed Amt	\$600,000.00	
ENGINEER"S ESTIMATE	\$ 2,330,500.00	
UM PRICES AND THE ESTIMATED QUANTITIES NLY. THE CITY WILL MAKE THE TABULATION F IT SHALL BE CHANGED AS ONLY THE UNIT PRI		
		Bond Amount (Page P-24)
		Bonding Company (Page P- 24)
		Proposal Bond Amount Required (P-47)
		Contract Compliance No.
		(Cover) Non-Collusion Affidavit
		Completed? (Page P-49)
		Local Vendor? Y/N
		Addendum Acknowledgement Completed? (Page-3)
		Proposal Affidavit
		Completed? (Pages 3-5)

DATE: 05/06/2015

el & Co., Inc.	Conie Cons	John Eramo	
Total Cost in (\$) Figures	Total Sum Materials and Labor	Total Cost in (\$) Figures	Total Sum Materials and Labor
\$9,800.00	\$480.00	\$9,600.00	\$575.00
\$16,400.00	\$1,600.00	\$16,000.00	\$1,400.00
\$5,460.00	\$2,700.00	\$5,400.00	\$2,200.00
\$7,660.00	\$3,700.00	\$7,400.00	\$2,800.00
\$6,200.00	\$53.00		\$25.00
\$650.00	\$27.00	\$2,700.00	\$20.00
\$10,400.00	\$425.00	\$8,500.00	\$450.00
\$4,200.00 \$8,500.00	\$25.00 \$8.25	\$1,250.00 \$8,250.00	\$20.00 \$9.00
\$20,000.00	\$147.00	\$14,700.00	\$180.00
\$2,000.00	\$1.10	\$1,100.00	\$1.00
\$2,375.00	\$140.00	\$3,500.00	\$125.00
\$84,800.00	\$1,000.00	\$80,000.00	\$1,150.00
\$15,770.00	\$44,600.00	\$44,600.00	\$8,000.00
\$13,250.00	\$5,000.00	\$25,000.00	\$3,000.00
\$12,050.00	\$4,800.00	\$24,000.00	\$2,400.00
\$19,800.00	\$4,500.00	\$45,000.00	\$1,900.00
\$4,000.00	\$13.00	\$6,500.00	\$14.00
\$9,800.00	\$38.00	\$7,600.00	\$40.00
\$10,800.00	\$38.00	\$7,600.00	\$40.00
\$3,000.00	\$14.00	\$28,000.00	\$4.00

\$4,500.00	\$5,800.00		
\$11,500.00	\$1,200.00	\$12,000.00	\$1,000.00
\$10,500.00			
\$11,000.00 \$9,500.00	\$1,100.00 \$1,200.00		
\$10,000.00	\$1,100.00 \$1,100.00	\$11,000.00	
\$9,100.00	\$1,100.00		
\$2,500.00	\$7,400.00	\$14,800.00	
\$2,700.00			
\$232,500.00 \$40,000.00	\$4,400.00 \$120.00		
\$35,000.00	\$4,300.00	\$215,000.00	\$3,500.00
\$146,000.00	\$115.00	\$115,000.00	\$155.00
\$150,000.00 \$150,000.00	\$115.00 \$115.00		
\$73,000.00			
\$75,000.00 \$75,000.00	\$160.00 \$160.00	\$80,000.00 \$80,000.00	

\$600,000.00		\$600,000.00	
\$ 2,193,215.00		\$ 2,519,200.00	
10%	Bond Amount (Page P-24)	10%	Bond Amount (Page P-24)
Ohio Farmers Insurance	Bonding Company (Page P- 24)	Ohio Farmers Insurance	Bonding Company (Page P-24)
\$219,321.50	Proposal Bond Amount Required (P-47)	\$251,920.00	Proposal Bond Amount Required (P-47)
31-4214570	Contract Compliance No. (Cover)	31-0800904	Contract Compliance No. (Cover)
Yes	Non-Collusion Affidavit Completed? (Page P-49)	Yes	Non-Collusion Affidavit Completed? (Page P-49)
Yes	Local Vendor? Y/N	Yes	Local Vendor? Y/N
NA	Addendum Acknowledgement Completed? (Page-3)		Addendum Acknowledgement Completed? (Page-3)
Yes	Proposal Affidavit Completed? (Pages 3-5)	Yes	Proposal Affidavit Completed? (Pages 3-5)

& Sons, Inc.	The Right	er Co., Inc.	Complete Genera
Total Cost in (\$) Figures	Total Sum Materials and Labor	Total Cost in (\$) Figures	Total Sum Materials and Labor
\$11,500.00	\$700.00	\$14,000.00	\$500.00
\$14,000.00	\$900.00	\$9,000.00	\$650.00
\$4,400.00	\$1,800.00	\$3,600.00	\$1,250.00
\$5,600.00	\$3,300.00	\$6,600.00	\$1,800.00
\$10,000.00	\$25.00		
\$2,000.00	\$10.00	\$1,000.00	\$6.00
\$9,000.00	\$500.00	\$10,000.00	\$580.00
\$1,000.00			
\$9,000.00	\$15.00		
\$18,000.00	\$225.00		
\$1,000.00 \$3,125.00	\$2.00 \$150.00		
\$92,000.00	\$1,300.00		
\$8,000.00	\$8,000.00		
\$15,000.00	\$5,500.00	\$27,500.00	
\$12,000.00	\$3,000.00	\$15,000.00	\$3,300.00
\$19,000.00	\$3,000.00	\$30,000.00	\$2,500.00
\$7,000.00	\$15.00	\$7,500.00	\$9.00
\$8,000.00	\$50.00	\$10,000.00	\$40.00
\$8,000.00	\$60.00	\$12,000.00	\$50.00
\$8,000.00	\$4.00	\$8,000.00	\$3.00

\$ 1,978,625.00	\$	2,178,450.00	
\$65,000.00	\$21,000.00	\$105,000.00	\$24,000.00
\$60,000.00	\$20,000.00	\$100,000.00	\$25,000.00
\$50,000.00	\$16,000.00	\$80,000.00	\$20,000.00
\$72,000.00	\$750.00	\$75,000.00	\$1,250.00
\$74,000.00	\$700.00	\$70,000.00	\$1,250.00
\$3,500.00	\$500.00	\$5,000.00	\$450.00
\$22,500.00	\$750.00	\$22,500.00	\$500.00
\$10,000.00	\$1,500.00	\$15,000.00	\$750.00
\$10,000.00	\$1,400.00	\$14,000.00	\$750.00
\$9,000.00	\$1,100.00	\$11,000.00	\$650.00
\$14,000.00	\$2,600.00	\$26,000.00	\$1,250.00
\$13,000.00	\$2,500.00	\$25,000.00	\$1,250.00
\$11,000.00	\$1,000.00	\$10,000.00	\$850.00
\$6,000.00	\$4,000.00	\$8,000.00	\$1,800.00
\$5,000.00	\$7,000.00	\$7,000.00	\$2,650.00
\$8,000.00	\$400.00	\$8,000.00	\$300.00
\$200,000.00	\$3,000.00	\$150,000.00	\$1,600.00
\$175,000.00	\$3,000.00	\$150,000.00	\$500.00
\$155,000.00	\$200.00	\$200,000.00	\$210.00
\$220,000.00	\$200.00	\$200,000.00	\$290.00
\$190,000.00	\$225.00	\$225,000.00	\$275.00
\$85,000.00	\$225.00	\$112,500.00	\$235.00
\$137,500.00	\$225.00	\$112,500.00	\$305.00
\$117,500.00	\$250.00	\$125,000.00	\$285.00

\$600,000.00			\$600,000.00	
\$ 2,578,625.00		\$	2,778,450.00	
10%	Bond Amount (Page P-24)		10%	Bond Amount (Page P-24)
Ohio Farmers Insurance	Bonding Company (Page P-	O	nio Farmers Insurance	Bonding Company (Page P- 24)
\$257,862.50	Proposal Bond Amount Required (P-47)		\$277,845.00	Proposal Bond Amount Required (P-47)
31-0724866			31-0889208	Contract Compliance No. (Cover)
Yes	Non-Collusion Affidavit Completed? (Page P-49)			Non-Collusion Affidavit Completed? (Page P-49)
Yes	Local Vendor? Y/N		Yes	Local Vendor? Y/N
NA NA	Addendum Acknowledgement Completed? (Page-3)		NA	Addendum Acknowledgement Completed? (Page-3)
Yes	Proposal Affidavit Completed? (Pages 3-5)			Proposal Affidavit Completed? (Pages 3-5)

al Construction Co.		
Total Cost in (\$) Figures		
\$10,000.00		
\$6,500.00		
\$2,500.00		
\$3,600.00		
\$10,000.00		
\$600.00		
φοσοιος		
\$11,600.00		
\$1,000.00		
\$8,000.00		
\$18,000.00		
\$1,000.00		
\$3,125.00		
\$100,000.00		
\$9,500.00		
\$25,000.00		
\$16,500.00		
\$25,000.00		
\$25,000.00 \$4,500.00		
\$8,000.00		
\$10,000.00		

\$6,000.00

\$142,500.0 \$152,500.0 \$117,500.0 \$275,000.0 \$290,000.0 \$210,000.0 \$25,000.0 \$25,000.0 \$3,600.0 \$2,650.0 \$3,600.0 \$12,500.0 \$12,500.0 \$6,500.0 \$7,500.0
\$117,500.0 \$275,000.0 \$290,000.0 \$210,000.0 \$25,000.0 \$80,000.0 \$6,000.0 \$2,650.0 \$3,600.0 \$12,500.0 \$12,500.0 \$6,500.0
\$275,000.00 \$290,000.00 \$210,000.00 \$25,000.00 \$80,000.00 \$6,000.00 \$2,650.00 \$3,600.00 \$12,500.00 \$12,500.00 \$6,500.00
\$290,000.00 \$210,000.00 \$25,000.00 \$80,000.00 \$6,000.00 \$2,650.00 \$3,600.00 \$12,500.00 \$12,500.00 \$6,500.00
\$210,000.00 \$25,000.00 \$80,000.00 \$6,000.00 \$2,650.00 \$3,600.00 \$8,500.00 \$12,500.00 \$6,500.00
\$25,000.0 \$80,000.0 \$6,000.0 \$2,650.0 \$3,600.0 \$8,500.0 \$12,500.0 \$12,500.0
\$80,000.0 \$6,000.0 \$2,650.0 \$3,600.0 \$8,500.0 \$12,500.0 \$12,500.0
\$6,000.0 \$2,650.0 \$3,600.0 \$8,500.0 \$12,500.0 \$12,500.0
\$6,000.0 \$2,650.0 \$3,600.0 \$8,500.0 \$12,500.0 \$12,500.0
\$2,650.0 \$3,600.0 \$8,500.0 \$12,500.0 \$12,500.0 \$6,500.0
\$3,600.0 \$8,500.0 \$12,500.0 \$12,500.0 \$6,500.0
\$8,500.0 \$12,500.0 \$12,500.0 \$6,500.0
\$8,500.0 \$12,500.0 \$12,500.0 \$6,500.0
\$12,500.0 \$12,500.0 \$6,500.0
\$12,500.0 \$6,500.0
\$6,500.0
. ,
\$7,500.0
\$15,000.0
\$4,500.0
, , , , , , , , , , , , , , , , , , , ,
\$125,000.0
\$125,000.0
\$100,000.0
\$125,000.0
\$120,000.0
\$ 2,254,675.00

\$600,000.00
\$ 2,854,675.00
10%
Arch Insurance Company
\$285,467.50
31-4366382
Yes
Yes
NA
Yes